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�A� �Ð� Ty�At�� �A§Ahn�� 	s�� . : 1 �§rm�

1. lim
x→5+

x2 − 11x+ 28

x2 − 25
2. lim

x→5−

x2 − 11x+ 28

x2 − 25

3. lim
x→5+

x2 − 9x+ 20

x2 − 25
4. lim

x→5−

x2 − 9x+ 20

x2 − 25

: Ty�At�� �A§Ahn�� 	s�� : 2 �§rm�

1. limx→+∞
√
x+ 4−

√
x− 4 2. limx→+∞

√
x2 − 1− x

: 3 �§rm�

4

.1 dn� x3 T��d�� T§Ah� TF�Cd� ,(ε, δ) d�¤� ©� �§r`t�� �Am`tF��

: 5 �§rm�

: ¨l§Am� R Yl� T�r`m�� g T��d�� �kt� : �§rm�

g(x) =

 1
ln |x|  A� �Ð� x /∈ {0,−1, 1}
0  A� �Ð� x = 0,−1, 1

?­rmts� g ªAq� ©� ¨�

¨l§Am� T�r`m�� f : R→ R T��d�� �kt� (1 :

f(x) =

(ax)2  A� �Ð� x ≤ 1,

a sin(π
2
x)  A� �Ð� x > 1

?­rmts� f T��d��  wk� Yt� a �y� ¨¡A� .¨qyq� 
�A� a ∈ R�y�

: ­rmts� Ty�At�� g : R→ R T��d��  wk� Yt� α, β, γ ∈ R
�A��� �y� �� d�¤� (2
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: 7 �§rm�

8

: 9

: �§rm�6: ¨l§Am� R\{−1} Yl� T�r`m�� f T��d�� �kt�

f(x) =
1 + x

x3 + 1
.

.−1 TWqn�� dn� C�rmtF³A� f T��d�� d§dm� Annkm§ ¢�� 
b��

.d§dmt�� �@h� −1 dn� ­Ðw��m�� Tmyq��  d�

? 0¨� �AqtJ®� Tl�A� Ty�At�� ��¤d�� �¡

f(x) =
x

1 + |x|
, g(x) =

 x sin(x) sin(1/x)  A� �Ð� x 6= 0

0  A� �Ð� x = 0.
, h(x) = |x| sinx.

¨l§ Am� R+ Yl� T�r`m�� f T��d��  wk� �y�� a, b ∈ R d�¤� :

10

�§rm�

f(x) =
√
x  A� �Ð� 0 ≤ x ≤ 1 ¤ f(x) = ax2 + bx+ 1  A� �Ð� x > 1

.1 dn� �AqtJ²� Tl�A�

: R Yl� Ty�At�� ��¤d�� �AqtJ� Tyl�A� xC �

11

�§rm�

f(x) =

 x2 sin
(
1
x

)
x 6= 0

0 x = 0
g(x) =

 x3 sin
(
1
x

)
x 6= 0

0 x = 0.

: Ty�At�� ��¤dl� n T�Cd�� �� �tKm�� 	s�� : �§rm�

1.x 7→ x exp(x) 2.x 7→ x2 sinx

3.x 7→ xn−1 ln(1 + x).

w¡ xne1/x n+ 1 T�Cd�� �� �tKm��  � 
b�� .n ∈ N �kt� : �§rm�

(−1)n+1

xn+2
e1/x.

: T��dl�

g(x) =


1  A� �Ð� x ≤ 0,

αe−x + βex + γx(ex − e−x)  A� �Ð� 0 < x < 1,

e2−x  A� �Ð� x ≥ 1.




